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THis & abshrack datx Stra fure where inseded items ace atomtically ranked in e of
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Some.  Definitions

. botlem - most, n'DH'-mo}"' node
! Node Suwps uith parent node in o Yrec
t o hohe Skeps with & child node in a tree

Heap Methads
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Best case: —pot @
Werst case:
In the wbrst case, He new node Swims wip all e vay 1o the rost of He tree
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remove,(): @maves and. retuns the hishest priocity Hem Crood).
(D Reploce  root with
@ new rost wikil all dildren less priotity ot iy dldven.
Which child 1p duose to swap T The one. v/ highest priorty.
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